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Solution
(x+47972) inn . (2=30985) 100 Lo 4947989
~aon 01 2400 SR =120 - 9731 ¢ x = 2247028, 2 = SR
Steps

(x +47972) _ 5y
75 600

2400 - % —120—9731

Isolate x for Lx+47972) _ 51: x=2247028
75+ 600

[ 2400 - % =120-—9731 }

Simplify

[ 160(z—30985) = —9611 |

4947989

Isolate z for 160(z — 30985 ) = —9611: z= =

The solutions to the system of equations are:

_ 4947989
x = 2247028, z = 227989

https://www.symbolab.com/solver/step-by-step/%5Cleft(x%2B47972%5Cright)%3A75%5Ccdot600%3D512400%5Cleft(z-30985%5Cright)%3A15...
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